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Question Number : 1 Question Id : 558139286 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Cache memory was introduced in the generation computers.

Options:

1 % first
> % second
5 « third

4 % fourth

Question Number : 1 Question Id : 558139286 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 2 Question Id : 558139287 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
FORTRAN stands for:
Options:

1 + Formula Translation

> % Forward Transact
= % Forward Translate
4 # Forward Transfer

Question Number : 2 Question Id : 558139287 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 3 Question Id : 558139288 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A desktop computer is also referred to as:
Options:

, » Palmtop

2« PC
= ® DC
4 % MC

Question Number : 3 Question Id : 558139288 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0
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Options:
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z % DC

4 % MC

Question Number : 4 Question Id : 558139289 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The computer parts attached to the CPU are referred to as:

Options:
|  Output devices

- » Peripherals
= # Shard

4 % Control units

Question Number : 4 Question Id : 558139289 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 5 Question Id : 558139290 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Find the odd one out:
Options:

, w Arithmetic Logic Unit

Control Unit

®

Z.

5 % Registers
4 « Bins

Question Number : 5 Question Id : 558139290 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 6 Question Id : 558139291 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Mouse and are also examples of input devices.

Options:
1 % Printer

» # Speakers
= % Monitor

4 « Scanner

Question Number : 6 Question Id : 558139291 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 7 Question Id : 558139292 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What does TFT stand for?
Options:

1 % Thin Film Tube

% Thin Film Track

« Thin Film Transistor

.

S

Tin Film Transfer

Question Number : 7 Question Id : 558139292 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
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Question Number : 8 Question Id : 558139293 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Line, Daisy Wheel. Laser and Drum are types of:

Options:
1 % Plotters

-~ % Scanners
- # Photocopiers
4 « Printers

Question Number : 8 Question Id : 558139293 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 9 Question Id : 558139294 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

When we are using DPI in context of a laser printer. we are referring to the printer’s:
Options:

, w Speed

> % Spin
% % Address
4 + Resolution

Question Number : 9 Question Id : 558139294 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 10 Question Id : 558139295 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If you are using a plotter, you are using an:
Options:

, % Input device

-  Output device

5 » Input - output device

4 ® Ultra device

Question Number : 10 Question Id : 558139295 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 11 Question Id : 558139296 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If you are referring to Serial. Parallel. AGP . Infra red. you are making a reference about:

Options:
1 « Ports
-~ % DBus
5 » Registers
4 ® RAM

Question Number : 11 Question Id : 558139296 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 12 Question Id : 558139297 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
AI (Artificial Intelligence) 1s used in generation computers.

Options:
1 % second

> % third
5 % fourth
4 « fifth

Question Number : 12 Question Id : 558139297 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options :
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Question Number : 13 Question Id : 558139298 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

‘What in the operating system is responsible for processor management?
Options:

1 + Traffic controller

-~ » Dispatcher

= # Processor Scheduler

4 % Job Scheduler

Question Number : 13 Question Id : 558139298 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 14 Question Id : 558139299 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is responsible for selecting one job for the processor from the many jobs submitted
to the system?

Options:
1 % Traffic controller

> u File system

% « Job Scheduler

4, % Dispatcher

Question Number : 14 Question Id : 558139299 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 15 Question Id : 558139300 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following tasks is not managed by the operating system directly?

Options:
, = Memory Management
5 of Virus Management

5 = Application Management

4 w File management

Question Number : 15 Question Id : 558139300 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
fraofaa w=at § ¥ Fia ar @ 3 s @ ya9ieg 76 82
Options:

Question Number : 16 Question Id : 558139301 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
An embedded operating system could be found:

Options:
, % Onadesktop
-~ % On a Server

= « OnaPDA
4 % On anetworked PC

Question Number : 16 Question Id : 558139301 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 17 Question Id : 558139302 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Unix, MS DOS, Linux are examples of:
Options:

| % Computers

5 o Operating Systems
= % Printers
, % Brands of printers

Question Number : 17 Question Id : 558139302 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Unix, MS DOS, Linux &8s 32EI0T 87
Options:
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Question Number : 18 Question Id : 558139303 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Find the odd one out:
Options:

1 # Linux

> % Windows

= % MAC OS

4 « IOS

Question Number : 18 Question Id : 558139303 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
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Question Number : 19 Question Id : 558139304 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
MS Windows is:
Options:

| & Al Operating System

- % Office Suite

5 » Application

4 % Monitor

Question Number : 19 Question Id : 558139304 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
MS =T Fam 87
Options:
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Question Number : 20 Question Id : 558139305 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
In Windows ME. ME stands for:

Options:
1+« Millennium Edition
- % Maximum Effect

- » Maximum Efficiency

4 % Minimum Energy

Question Number : 20 Question Id : 558139305 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
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Question Number : 21 Question Id : 558139306 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

If you are using Ctrl + A keys in MS Word. what are you trying to do?
Options:

1 « Select all text in the file

> % Copy all text in the file

%z % Close the window
4 % DPaste text

Question Number : 21 Question Id : 558139306 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 22 Question Id : 558139307 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

If you are using Ctrl + Enter Keys, you are trying to:
Options:

1 « Create a lme break

> % Create a new file

5 % Open an existing file

4 % Close a file

Question Number : 22 Question Id : 558139307 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 23 Question Id : 558139308 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

If you are trying to access programs or start programs, you will access:
Options:

1 # Default menu

- " Start menu

- # File tab

4 % Home tab

Question Number : 23 Question Id : 558139308 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 24 Question Id : 558139309 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

If you are trying to assess the free space available on your computer (Assume you have
MS Windows Operating System), you will access:

Options:

i« My Computer

> % My Documents

5 % My Pictures

4 % Help Menu



Question Number : 24 Question Id : 558139309 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 25 Question Id : 558139310 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A collection of files which are interlinked/interrelated on a computer is referred to as:

Options:
1 ® File

> % Documents
=  Database

4 % Folder

Question Number : 25 Question Id : 558139310 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
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Question Number : 26 Question Id : 558139311 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In case you were to display the files saved in folder, you will:

Options:
1 % Rename it

> % Click on it
- % Double right click on the folder

4 + Double left click on the folder



Question Number : 26 Question Id : 558139311 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 27 Question Id : 558139312 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
If you are usmg Ctrl + Esc. yvou will:
Options:

, w» Be accessing the windows help

> % Openmy computer
-  DBe accessing the Start Menu

4 % Opencontrol panel

Question Number : 27 Question Id : 558139312 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Ifg 3T Ctrl + Esc &1 399197 &7 3§ &, af 3

Options:
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Question Number : 28 Question Id : 558139313 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In a split window mode. if one of the two title bars is darker than the other. it indicates:

Options:
1 # The darker title window is dormant

> % The darker title window is not in use
= % The darker title window is closed

4 « Darker title is active



Question Number : 28 Question Id : 558139313 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 29 Question Id : 558139314 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Which of the following statements is not true?
Options:

1 % Files can be renamed

®

Files can be deleted

®

z.
= % Directories can be deleted
4.

« Directories cannot be renamed

Question Number : 29 Question Id : 558139314 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 30 Question Id : 558139315 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If you are using a Windows operating system and use the keys : Windows key + D. you are
trying to:

Options:

| % Log out

-  View the Desktop



= % Delete a file

4 # Go to Windows Directory

Question Number : 30 Question Id : 558139315 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Ife T e e s Fr3varT FT ® § 3 Cil + D &1 399
FT &, 6 T FAT T B FIfErer F w7 &2

Options:
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Question Number : 31 Question Id : 558139316 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following format reduces the audio file to about one tenth of its original size
without losing the sound quality by a large amount?

Options:
, % PDF

- % VMEG
2 « MP3
4 % GIF

Question Number : 31 Question Id : 558139316 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

, % PDF
. = VMEG
- v MP3
. % GIF

Question Number : 32 Question Id : 558139317 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

If in MS Word you have to check the spelling and use of grammar in a document. you will
use:

Options:



1 % Ctl+F
5 8% Cil+S
3.« F7
4 % F3

Question Number : 32 Question Id : 558139317 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
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Question Number : 33 Question Id : 558139318 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

MS Word 1s a/an:
Options:

| % Operating System

5 « Applcation Software
s % Programming Language
4 ® Virus

Question Number : 33 Question Id : 558139318 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 34 Question Id : 558139319 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

You have used ctrl + shift + P key m MS word. what are you trymg to do?
Options:

1 Change the font size



- % Print the document
= # Preview the document

4 % Edit the document

Question Number : 34 Question Id : 558139319 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

afe 3T MS T2 F ctrl + shift + P &7 39317 &7 @ &, aF 31T 347 &
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Options:
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Question Number : 35 Question Id : 558139320 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
If in MS Excel you would like to add a row. you will use:

Options:
1 # The file menu

> « The insert menu
% # The edit menu

4 % The view menu

Question Number : 35 Question Id : 558139320 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 36 Question Id : 558139321 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If you are using the RAND function in MS Excel. you are trying to:

Options:



1 « Generate a Random Number
> # Generate Ranks

5 % Merge Rows

4 » Repeat the data in the cell

Question Number : 36 Question Id : 558139321 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

T 3T MS TFEer #§ RAND & 390197 T g 2, o7 3T FAT F7eT ST Friorer
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Options:
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Question Number : 37 Question Id : 558139322 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Find the odd one out:
Options:

1 % Bubble

~ % Bar

3 % Pie

4 « Row

Question Number : 37 Question Id : 558139322 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

= 7 "fva & gg==a3 F:1
Options:

1 #% ddef

> #% S

.

. T (row)

Question Number : 38 Question Id : 558139323 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If you are preparing a slide, you are:

Options:



, % Working on MS Word

» » Working on MS Excel

5 « Working on MS Powerpoint

4 % Working on a Super computer

Question Number : 38 Question Id : 558139323 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 39 Question Id : 558139324 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If you are working on MS Powerpoint and use the key F5. you are:
Options:

| « Starting a presentation from the beginning

- u Starting the presentation from the current slide

- % Saving the presentation

4 % Inserting a video in the presentation

Question Number : 39 Question Id : 558139324 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Tfe 31T MS dTeRTIse H F1H & @ & AR F5 & 39417 ad & af 3

Options:
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Question Number : 40 Question Id : 558139325 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O



Expand DCL.:
Options:
1 % Disk Control Location

5 o Data Control Language
- » Disk Control Language

4 % Only Character Reader

Question Number : 40 Question Id : 558139325 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
DCL & qured gl

Options:

|« BT FAF FeRe
, ST FI AT
4 » TOF FFeT I

Question Number : 41 Question Id : 558139326 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
MS Access is:
Options:

. ® ACPU

> % Used as a word processor
-  Anexample of a database

4 % A computer

Question Number : 41 Question Id : 558139326 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

MS Access T g2
Options:

; ® CPU
, % T T8 WA & RE 394 A S e 'irea
S_Q;QEWEFI'B?;IETUT

4 % e ﬂﬁd-'-'llnd‘{

Question Number : 42 Question Id : 558139327 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O



Wi-F1 stands for:
Options:

1 % Wireless Function
- % Wireless Final

5  Wireless Fidelity
4 % Windows Function

Question Number : 42 Question Id : 558139327 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

ASEE F AT

Options:
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Question Number : 43 Question Id : 558139328 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If you are using Bluetooth on your computer, you are using which type of the network?

Options:
1 B LAN

% Wi-Fi
» PAN
% WAN

.

Question Number : 43 Question Id : 558139328 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
TfE 3T H9 FoUe R eogy F 3T T E &, ar W FE 9w F
ATTH FT ITANT FT T &7

Options:

. % LAN
o % Wi-Fi
-« PAN
. % WAN

Question Number : 44 Question Id : 558139329 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



What 1s the domam code *.mul" likely to be used by?
Options:
| Military

- u Milk Cooperatives
5 % Mining Industry

4 % Multinationals

Question Number : 44 Question Id : 558139329 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
SHT FIF “mil' FT FEF aRT STIATT FAT ATHAT 87

Options:

| v

b % oY HEwNT |iAfaar
.« e

4 % FodlATeT

Question Number : 45 Question Id : 558139330 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

MAN stands for:
Options:

 Metropolitan Area Network

1
- % Market Area Network
= % Main Area Network

4 ® Major Areas Network

Question Number : 45 Question Id : 558139330 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

MAN & 90T &9 gl

Options:

| derifeen oRer deah
, « FHE ORET dead
o« & oRE dead
4« AT ORE e

Question Number : 46 Question Id : 558139331 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



What does ISP stand for:
Options:
1 % Internet Service Protocol

> « Internet Service Provider
= # Internal Service Protocol

4 » Internet System Protocol

Question Number : 46 Question Id : 558139331 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

ISP T 2T 3727 &1ar 87

Options:

| SetE T S
v T AT

. . S R G
, « ST Rree s

Question Number : 47 Question Id : 558139332 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The primary use of Firewalls is to:
Options:

1 % Prevent virus attacks

- % Prevent computer from fires

= « Prevent unauthorised access

, » Handle Data security

Question Number : 47 Question Id : 558139332 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
BT ITeF HT TATHE 39T gl
Options:

| x TOE W g

L x PO R AT A T
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Question Number : 48 Question Id : 558139333 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0

Find the odd one out:

Options:

, w Packet - Filtering Routers

- » Application - Level gateways
- u Circuit - level gateways
4  Mobile - Gateways

Question Number : 48 Question Id : 558139333 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
foT & vy $r og=a F:4
Options:

1 *® m = a; ?Eiiai {1327
o % TSRl - o de Iead
- % e - FFa Ieaa

L ST - e

Question Number : 49 Question Id : 558139334 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Arrange the following languages from earliest to the most recent year of development:
FORTRAN, COBOL, PASCAL, JAVA

Options:
1 ® COBOL. FORTRAN., PASCAL. JAVA

>  FORTRAN, COBOL, PASCAL, JAVA
z x PASCAL, FORTRAN., COBOL., JAVA
4 & FORTRAN, COBOL, JAVA, PASCAL

Question Number : 49 Question Id : 558139334 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Frafaf@a smst & 395 R F F1a F g FAaE HAT (JaT
uge, YA 3T A):
FORTRAN, COBOL, PASCAL, JAVA

Options:

, » COBOL, FORTRAN, PASCAL, JAVA
- v FORTRAN, COBOL, PASCAL, JAVA
- » PASCAL, FORTRAN, COBOL, JAVA



4, » FORTRAN, COBOL, JAVA, PASCAL

Question Number : 50 Question Id : 558139335 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Dreamweaver, Flash and Premier are examples of:

Options:
| % Database Management Programs
> % Web Browsers

s  Multimedia Applications

4 % Word Processors

Question Number : 50 Question Id : 558139335 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

17 a7, weler v fifFw s 3T 7

Options:
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Question Number : 51 Question Id : 558139336 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What does ASCII stand for?

Options:

1 % Amerncan Standard Code for Internet Interface

-  American Standard Code for Information Interchange
5 » American Standard Code for Internet Interchange

4 % Amernican Standard Code for Information Interface

Question Number : 51 Question Id : 558139336 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

ASCIl T FT 3 g 22
Options:

|« AT T32 FIF BN T 36
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, « FANET T3 F13 B SABHIA FTTHH

Question Number : 52 Question Id : 558139337 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Cache Memory acts:

Options:
1 % Between RAM and ROM

« Between CPU and RAM
# Between CPU and ROM
% Between CPU and hard disk

o E DD

Question Number : 52 Question Id : 558139337 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

FIr FART FET FT T 27

Options:

. » RAM 3k ROM & &=
- v CPU 3R RAM & &=
- » CPU 3R ROM # &=
4 » CPU 3R g5 % & €9

READING COMPREEHEMNSIOHM
Section Id : 55813974
Section Number : 2
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 1
Number of Questions to be attempted: 1
Section Marks: 5
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 55813974
Question Shuffling Allowed : Yes

Question Id : 558139338 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension

Questions: No

Question Numbers: (53 to 57)
Juestion Label | Comprehension



Effective developmental coaching, feedback and mentoring are key to helping people
perform to their best. In turn, improved performance leads to greater team and
organisational efficiency. Coaching and mentoring are different from teaching or
mstructing. Unlike teaching. the emphasis 1s on working with individuals collaboratively
to help them to build on their strengths and overcome weaknesses. In doing so. they can be
assisted to achieve their potential.

Coaching is a one-on—one relationship between you (the coach) and a person (your
“coachee™) focusing on how your coachee can achieve his/ her objectives. Instead of
teaching or instructing. coaching helps individuals to discover things for themselves.
Coaching typically occurs in a series of conversations. There are various frameworks such
as GROW to help conduct those conversations.

Like coaching. mentoring is a one-on-one relationship between you (the mentor) and a
person (your “mentee”) focusing on how he/ she can achieve his/ her objectives.
Sometimes the words coaching and mentoring are used interchangeably, though a clear
distinction can be drawn. For example. a mentor is sometimes defined as someone senior
within an organisation who assists a recent hire or high flyer with how to progress in the
organisation — and this therefore combines a sharing of knowledge and experience with the
self-discovery of coaching. That means as a mentor you are unlikely to be mentee’s
engagement manager or people manager. nor close peer. A mentor is therefore an objective
observer who uses his/ her skills. background and experience to help a mentee overcome
obstacles. appreciate own strengths and realise own potential.

As with any meeting. preparation is the key. As a coach or mentor, you need to have a plan
to identify what guidance is needed and what areas you need to cover. You should also
ivolve the coachee or mentee in the plan and ask what areas he/ she would like to discuss,
and offer suggestions for his/ her own preparation.

Sub questions

Question Number : 53 Question Id : 558139339 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What do you think GROW is?
Options:

, = Itisaframework for mentoring

> w Itisaframework for mentoring and coaching
5 o It is one of the frameworks that facilitates multiple conversations required for coaching

4, » Itisaframework that helps a coachee grow

Question Number : 54 Question Id : 558139340 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
How is coaching and mentoring different from teaching?
Options:

, w Unlike coaching, teaching is one time affair

Unlike teaching. coaching and mentoring are a collaborative process. which helps the
> « individual discover solutions



5 % Unlike teaching. coaching requires repeated interactions

4, % Unlike coaching. teaching is a problem solving approach

Question Number : 55 Question Id : 558139341 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
As per the author:

Options:
, % Mentoring and coaching is one and the same thing
-  Both mentoring and coaching are often used interchangeably but are different

5 % Thereis role for the coachee or mentee in developing the coaching or mentoring plan

, % Coaching is better than mentoring

Question Number : 56 Question Id : 558139342 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which out of following statements cannot be inferred from the write-up?
Options:
A mentor is a senior member of the team who is an objective observer and will not be your
. w Dpeer in the organisation

> % Coaching is a one-on-one relationship between the coach and the coachee
5  Mentoring is more effective than coaching

4 w Mentoring and coaching are collaborative efforts

Question Number : 57 Question Id : 558139343 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following can be inferred from the write-up?

Options:
, « Effective coaching and mentoring is the key to help people perform to their best

- % Coaching is better than teaching

= % One should not have more than 2 coachees to be an effective coach

4, % Mentoring is better than coaching

Question Id : 558139338 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53 to 57)
Cestion Label | Comprehiension
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Sub questions

Question Number : 53 Question Id : 558139339 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
HT9% HJAR GROW T &7

Options:

| % T GUAT H TF FOMA g
. » TE T AT gfNetor Fr v o F

5 Pl gl

, » TE TH qUTEr § S Reamndt fr ey F FEear o w1

Question Number : 54 Question Id : 558139340 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 55 Question Id : 558139341 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 56 Question Id : 558139342 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0
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Options:
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Question Number : 57 Question Id : 558139343 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
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OUANTITATIVE AFTITULE
Section Id : 55813975
Section Number : 3
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 6
Number of Questions to be attempted: 6
Section Marks: 6
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 55813975
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 558139344 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

If the sum of a number and its square is 1122, find the number.

Options:
1 ® 32



Question Number : 58 Question Id : 558139344 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Ife fordY 3 3R 3% 39 #1 T 1122 §, & 98 HF §49|
Options:
4 ¢ 33

Question Number : 59 Question Id : 558139345 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The sum of the squares of three consecutive numbers is 302. What is the value of the
largest number among the three?

Options:
1 ® 0

A 10
= o 11
4 ® 12

Question Number : 59 Question Id : 558139345 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
AT FAEES 3 & F F1 ART 302 F| AT HH H T HIH g3 37F F AT FT 87

Options:

1%&9

3_;,.;?11

Question Number : 60 Question Id : 558139346 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
‘What is the value of progression 1 +4 +7 + 10 + ... up to 100 terms?

Options:
; % 15050

o> « 14950
5 % 14750



4 % 50000

Question Number : 60 Question Id : 558139346 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
100 FFRTFF 1 + 4 + 7 + 10 Fr Ao FT AT FAT 872

Options:

. % 15050
» « 14950
5 = 14750
., = 50000

Question Number : 61 Question Id : 558139347 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Two similar triangles. ABC and XYZ have area of 6 em? and 24 cm? respectively. If the
longest side in triangle ABC 1s 5 cm. then what is the length of the corresponding side of
triangle XYZ?

Options:
1 « 10 cm

> % 20cm
z % 12cm
4 % 7T5cm

Question Number : 61 Question Id : 558139347 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

ar FAE T ABC 3R XYZ FT &19aeT FAr: 6 91 HerAeT i 24 9
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Options:

| 10 TF
5 % 20 AT
s % 12 T
4 % 75 A

Question Number : 62 Question Id : 558139348 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Two buildings are situated at the opposite sides of the banks of a lake. One of the buildings
is 60 m high. From the top of this building, the angles of depression of the top and the

bottom of the other building are 30° and 607 respectively. What is width of the lake and
the height of the other building?

Options:

1w 20\/"?_; m 40 m
5 % 100v/3 m. 40 m
s % 1004/3m. 45 m
4 % 20v/3 m. 45 m

Question Number : 62 Question Id : 558139348 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

. v 2043 R, 40 AT
. « 1003 #ex, 40 Hex
. « 1003 #ex, 45 #Hex
4 » 203 IR, 45 HEw

Question Number : 63 Question Id : 558139349 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Find the sum of all numbers divisible by 7, between 0 to 100.

Options:

; % 700
5 o T35
5 % 657
i® 777

Question Number : 63 Question Id : 558139349 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
0 ¥ 100 & &= 7 Zarr Fenfaa @efr 3it o7 I 9a1g]

Options:

% 700
, « 735
- % B57




4% 777

GEMERAL MENTAL ABILITY AND EEASONING

Section Id : 55813976

Section Number : 4

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 6

Number of Questions to be attempted: 6

Section Marks: 6

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 55813976
Question Shuffling Allowed : Yes

Question Number : 64 Question Id : 558139350 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

If in a certain language POPULAR is coded as QPQVMBS. which word would be coded
as GBNPVT?

Options:
; % FAMOSU

> v FAMOUS
- % FASOUM
4 % FRIENDS

Question Number : 64 Question Id : 558139350 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

IfE e s # POPULAR &I QPQVMBS & &9 & for@r arar &, ar
GBNPVT = & for@r smeem ?

Options:

, » FAMOSU
. « FAMOUS
- = FASOUM
. » FRIENDS

Question Number : 65 Question Id : 558139351 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A man walked 30 m towards south. Then turned to his right and walked 30 m. Then turned
to his left, and walked 20 m. Again he turned to his left. walked 30 m. How far is from his
initial position?



Options:
1« S0m

> % Vo0m

= % 25m
4 % 45m

Question Number : 65 Question Id : 558139351 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

, v 50 AT
, « V50 A
5 # 25 HIET
4 # 45 HAI

Question Number : 66 Question Id : 558139352 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Find the odd one out in the series 4, 16. 25, 36. 64, 144,

Options:
1. 25
> #% 4
= % 144
4 % 064
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Correct: 1 Wrong: 0
4, 16, 25, 36, 64, 144 ¥ #ofr & Byx &I F7 TTT FL

Options:

1. ¢ 25
> % 4

= % 144
4 % 64
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Answer the question based on the Pie Diagram.

Proportion of Mobile Handsat Market
10%

Apple
B Samsung
ELlG
= Sony

W Asus

If the total mobile handset marlet is of 5 million. what is the difference between the
number of handsets sold by Asus and Apple-

Options:
1« 0.75 million

- % 0.25 million
= # 50 million
4 % 0.50 million
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Correct: 1 Wrong: 0

Choose the correct option pair that shows the same relationship between the
words as the one m the given pair.

Chisel : Sculptor :: 7: ?

Options:

1 #% Scooter : Rider

-  Scalpel : Surgeon

3 # Brush : Teeth

4 % Knife : Woodcutter
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Correct: 1 Wrong: 0
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Options:
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The following diagram shows the candidates of class X that have passed in the annual
examination of six schools 1n a city.
Study the graph to answer the given questions.

Passed Candidates of Class X
140
- 122
E 120 .____Hl 116G o150
e - o
™~ 10D - % 'HJ_-';"__ iy . 102
= ~ —— —86 - 92
T %o *82 =82 o
e -
u 60 g
A0
20
0
e L] C [ I I
School e
= Girls

Three fourths of the number of boys of school C who passed is approximately what per
cent more than four sevenths of boys of school E who passed?

Options:
1 ® 18%

5 % 20%
5 o 23%
4 B 26%
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Options:

| % 18%

o % 20%

-« 23%

4 % 26%
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Question Number : 70 Question Id : 558139356 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Reserve Bank of India (RBI) prohibited the FDI in manufacturing of:

Options:
1 « Tobacco

> % Milk
- = Silk

4 % Beef

Question Number : 70 Question Id : 558139356 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct: 1 Wrong: 0
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Correct: 1 Wrong: 0
Government approved “Housmg For All” (HFA) nussion aimed at
providmg housmg facilities to all eligible people m urban areas by:

Options:
1 % 2025

5 % 2019
3 o 2022
4 % 2020
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Options:
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. % 2019
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Correct: 1 Wrong: 0
Who is the Managing Director of International Monetary Fund?

Options:
1 # Kofi Annan

> % Ban Ki Moon
5 o Christine Lagarde

4 % Mark Simon
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Correct: 1 Wrong: 0
Increase in rate of service tax from 12.36% to became operational recently:

Options:
1 14%

o R 18%0
= % 20%
4 ® 21%
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| v 14%
, = 18%
5 % 20%




4% 21%
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Correct: 1 Wrong: 0
Australia hosted Cricket's first day and night test in November 2015 between Australia and

Options:

, w» England

> % SriLanka

2 « New Zealand
4 % South Africa
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Correct: 1 Wrong: 0

As per the London based daily Financial Times, Which country was the most favoured
destination for FDI in the first half of the year 20157

Options:
1 % China

>  India
3 # Brazil
4 % South Africa
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The prograrmrme aims to establish a Sustainable Urban Transport systern with the support of private
investment worth £ 50 million mobilized from venture and angel funders. Under this project, a Knowledge
Management Centre (M) will be established in key urban pockets to develop a learning repository for
managing including a data base (Collectively called KMC), which can be effectively utilized by all the
stakeholders working in the domain of Urban Transport. Such a resource pool will help the stakeholders in
taking appropriate informed decisions in their respective sub dormains and help improve the quality of the
decisions taken. The Knowledge Management Centre will provide authentic and up to date information to
stakeholders and act as a platform to share expertise. The main objective of the government is to disserminate
the latest knowledge and create authentic city level database, as detailed later, in the domain of urban
transport available to the stakeholders. At the same time it is imperative that KMC is financially self-
sustainable in its operations. To achieve this it is envisaged that the Knowledge Management Centre will
provide consulting services to all institutions fagencies working in the urban transport and planning dormairl.
Services offered will include: (1) Urkban transport and towr planning, () GIS mapping and resource planning,
(2) Monitoring and evaluation of initiatives undertaken, and (4) Developrment of policy briefs. It is believed that
creation of a knowledge management certre is a necessary requirement with the increasing urbanization
envisaged in the country. Thus, the focus of this KMC will be to develop a national store house for all urban
transport sector related issues. This centre is 1o include a data management centre, which has been
conceptualized as the Central Urban Transport Information Centre in the Urban Transport Policy along with a
full-fledged library and a publishing wing. KMC would host regular update of the database, which will be one
of the important tasks of the Central Urkban Transport Information Centre. The Data Management center will
collect and collate information from similar data centres in other states in the country and key cities across the
world, provide access to the data collected for research, collate and analyse the data collected and generate
policy briefs for policy makers, and conduct time series analysis of data collected in urban transport dormain.
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